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CC Algebra

Cumulative Review #2.8
Show work for all questions for full credit 

& write your answers on the lines provided!!!
(If you feel no work is needed you must explain your reasoning.)

1) Which inequality represents the situation “Alex has at most $45 to spend on a basketball, including 8% tax?” 
a. p + 0.08p < 45 

b. p + 0.08p > 45 

c. p + 0.08p ≥ 45

d. p + 0.08p ≤ 45

1. ________________
​​​​​
2) If 
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a. –5

b. 11

c. 21

d. 43 
2. ________________
3) A function is shown in the table below.

	x
	f(x)

	–4
	2

	–1
	–4

	0
	–2

	3
	16


If included in the table, which ordered pair, (–4,1) or (1,–4), would result in a relation that is no longer a function?  Explain your answer.

3. _________________________________________________________________________________
_______________________________________________________________________________________
4) Jacob and Zachary go to the movie theater and purchase refreshments for their friends.  Jacob spends a total of $18.25 on two bags of popcorn and three drinks.  Zachary spends a total of $27.50 for four bags of popcorn and two drinks.  

Write a system of equations that can be used to find the price of one bag of popcorn and the price of one drink.  

4. ________________
________________
Using these equations, determine and state the price of a bag of popcorn and the price of a drink to the nearest cent.
popcorn $ ________________
drink $ ________________


5. Find three consecutive even integers such that the sum of twice the first and three times the third is fourteen more than four times the second.

5. ________________
________________
________________
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